MODULE 4 – Grinding
Unit 6 – Grinding Angles
Questions
1. Calculate the RPM for a Ø250mm grinding wheel to run at 1520 m/min.
2. What units is Force and Power measured in?
3. What device can be used to offset a workpiece at an angle?
4. Describe a Sine Bar and explain briefly now it is used to offset a workpiece at the required angle.
5. Explain how a workpiece is aligned using a dial indicator.
Answers

1. The spindle speed is calculated by using the following formula:

RPM  
=     
S x 1000




  л x D   

where S = surface speed (m/min) and D = diameter of grinding wheel

RPM  
=     
1520 x 1000




  л x 250   



=
1935 rev/min. 

2.  
Force is measured in Newtons (N) and Power is measured in Watts.
3.  
The Sine Bar can be used to offset a workpiece at the required angle?
4.  
The Sine Bar is a long steel block, which has a roller bars fixed at each end. One 
 
roller is placed on the table and the other on a set of slip gauges, which causes 
 
the sine bar to offset at the required angle. The slip gauge height can be 
 
calculated by using trigonometry. The workpiece is then placed on the Sine Bar 
 
and clamped to an Angle Plate with Toolmakers Clamps.
5.  
When aligning or clocking a workpiece, a dial indicator with a magnetic base is 
 
attachment onto the front of the column. The plunger or lever is positioned 
 
against the workpiece. The table is then moved left and right and the workpiece 
 
is adjusted until the workpiece is aligned.
